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Flghth Semester B.E. Degree Examinatlon, Dec.2023/Jan.2024
e F Big Data Analyt:cs

Md)’ Mai’ ks: 80
Nute: Answer any FIVE full questtons, choowng ONE full g auestwn from each moduie.

‘ Mo dule-1 ~
What are the various systems roles in n an HDFS development? E‘(plam with a neat diagram.
=) (08 Marks)
Explain with a neat diagram HDFS Block replication. (08 Marks)
W OR
Write the code for snmple mapper script and simple reducer script. (08 Marks)
With a neat dwgram exp]am Apache Hadoop paraliel mapRPduce data flow. (08 Miarks)
_1\11_)_(1&!&:_2.
Explain the. structure of Yam Application. * (08 Marks)
W ;ﬂ; a nPd‘f dlaﬂram, explain Yarn A plication Framework. 7 (98 Marks
Vm; 0]‘\ " . ) i
Explam Apache Squoop Import and Export method. h ‘ (08 Marks)
Explain Apache Ambasi serv1ce view of a Hadoop Cluster » & o (88 Marks)
" Module-3 ;
Write any four Business Intelligence Al,phcatlon for various scctors (08 Mariks)
Explain the star schema design of Data Ware fousmg with an ex amp (06 Marks)
What is Conﬁmon Matnx" g o i (02 Marks)
~OR
xpldm CRISP- DM cyclu with a.neat dlagram A (08 Marks)
What do_ you understand by th tcrm Data VlsuahZat%on? How is-it important in Big data
Analytics? ‘Y (95 Marks)
Dl*‘fel entiate between Data Mimng and Data Wdrehousmg (03 Marks)
it Module-4 »
l)escnbc the 1dvantages and disadvantages of using Regxessmn Models. (48 Marks)
priam Decxsmn tr\,e and write the d] gorithm to construct decision tree. (98 Marks
X r)J:un desig P,n prmmplcs of Artr fims;l Neural Network. {08 Marks)
Fxpiain Regression. List key steps of Regression. {04 Marks)
Explain Apriori Algumhmg o e AP (04 Marks
”’V[odule—S BANGALORE - 5 : :
E xplam with a neat dlagram text mining process. o (08 Marks)
What are the advamagpi and disadvantages of Naive-Baye’s algorithm? {04 Marks)
Fxplwn with a, nca; diagram SVM modcl ’ (04 Marks)
OR .t
Expidm thh a neat diagram web usage mining architecture. (08 Marks)
List and explain the applications of somal network analysis. {08 Marks)
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